71000

Test Model:

Photo 1

Photo 2

2
.
g
2
3
e
2
[~
3
3
B
B
g
g
-3




Photo 3

X X

—

=]
o
-J
o
=]
=
8
E
S
i
o

0S O OE 02 0Ol

Photo 4

4 i L .ano
,aﬂ__w_n_v___n___u ﬂ__o._wo 90 80 70 60 50
0 30 20 10 mm
.sga_oﬂssgq_ﬁ.o_am_oa g 2 10 Q
._____.__._:._.____:._ - - ; o
! -
¥

¢

0g 02 0L

"|||||=|||!|]|I.IE||'_',.

S

—




Photo 5

. sbvmesntorelos o 11295.
£1 IL—:'_.—_.L?| @ 1844

ks I_{{.'I'H_HIHIIIJH[]Hli]lli|,|i|1|||1|||1L|'|1l.|t\n|'.u,l.-,u.'.llz'.',.n_'-.'

Photo 6

f.w/fmff.'”;fuqnu,'mr[m:"rmjrm']Ji'i|']'}|{|'||'|1|1|i|n|lmlnnln|n1l1wnll.m_l,a'. |
00206 08 0 09 05 Oy 0¢ 0Z O} ()|, 06 08 OL 09 0S Ov OE 0Z O\




Photo 7

..-

g e g
i . -E‘l

.' a ye!

- Jeea
{ i w

i
g:
X




Photo 9

oz 08 06 00}°"

.

o¢ ov 05 09

wip o
¥ .. 0 AINT Aopdsig

||||
(114

11T Ol

IHJI'HrI'HHIHH‘HHIrlIwrrl|.||H||1I|||I|ll||1:||Iihlil'.||'|'.||.'a'_" |
0S Oy OE 0Z OL ()| 06 08 O 09 0S O OE 0Z Ol

=0/ 09 0S oy 0¢ 0z 01 0006 08 0 09 0S OF O
e

Photo 10

,"-'.’!II."'r"J':"H.','[!'IIJ“J'fr'.‘r'r'JhfleIJHIJ'|||IJ|I||II|I||iH'.\‘.Hl'H'...l.l!lllu'.s'.'.'.- '
00Z96 08 0L 09 0S Oy O 0Z O} (|06 08 OL 09 0S Ov OF

.08 02 09 05 Ov O 0Z 0 00106 08




Photo 11

08 06

|I:'|\;'_'f|'mr.l.:.l

y 05 09 0

[

s
. . ; .
' I '
T r
y e L2

oL 02 O 0

'.;!l“lHlHi”iHl“1HiH1”!Hlpv

Photo 12

leT”:
9 0L

05 0

!WJIPfIHrwa

i_}!z N I




Photo 13

09 03 OF OE 0Z 04 | 06 08 OL 09 05 O O 0Z o1




